- 3%
. N=A1: >(0=X"hl W= X sz(oa

Flix) s pyix) = 12 -,f Ceh) = £10) « O(w)

=: «F—; (x) = pGacld waln‘o\'ﬁer D‘{{ummiuo&'ad
3. n=2: >p > k—ﬁ( )(4-: Xl Xz-‘-‘k*h
(Y] = FOh) Loly) + OO Lely) +fosh) Ly ty)

Flog) ¢ pf ) = $0x-h) L0+ (o) Lyle) +fondk) Ly

=~ oot 2
- _ Q, or |
= 'Hx‘g)h‘,'(’i_h) = £l) 40h2)

=f 2 (x) = zeutreler ﬂ.’fklweu?uoﬁ'euf
n Exfea pola-h’om
Bir. 2. b, 2endvalen D ren-lcu?uo\‘fm th X als Fkf.wn h
Th) = §4(x):= ﬂ"“‘z’f"‘"‘) T;ogf'(x) ta hi4a,his. ..

w=ht — '
= fo)taedeagrle .. wit 2=kt

0« 20"‘": £ ?47-;041 £... < '2"'-"': &:{;h&llle‘t
To=Tlh)  Ty=Tlhy) Tp=Tlhy) Weide

= 7n~l61,oldfomp0(7nons P @)= ? T; L,‘(-E)

> T(h)=T@) ~ Pn(2)

=) Ex-lrapo[at‘l'om h=0 ¢ [hy h,]
£lis)=T(0) & p, (o) = £lx) +0( 2" ")




